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Axt 237t 0 o 7V 77k A ==L

@ (+9)x (-1 @) (-10)+ (+5)

® (+52) + (+4)

(=5) X (—4) = +20

(+4) x (=7) = -28

(—40) = (+5) = -8

(=33) = (-3) = +11

(+52) = (+4) = +13
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1.97 x (=17) 4 1.03 x (-17)

@_51 @ -34 ® -17 @ -14 6 -3

B

1.97 x (-17) + 1.03 x (~17)
= (1.97 + 1.03) x (~17)
=3 x (-17)

=51




@ (-1)2+6x(-2)2=1+6x(-8)

=1+ (-48)
= 47
@ (-6)x (-2)2+3 =(-6)x4+3
=-24+3
=-21
® (-3)2x(-2)> 4 (-6) =9 x (-8) + (-6)
= (=72) + (-6)
=-78
@ 12-(-4)2x(-1) =12-{ - (16) x 1}
=12 - (-16)
=12+16
=28
® (—4)-23 4 (-3)% = (-4) -8+ (-27)
= (-4) + (=8) + (-27)
=-(4+8+27)
= -39

=78 < 47 < -39 < -21 < 28
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@D a>0,b>0,¢c>0 @a>0,b>0,c<0
® a>0,b<0,c<0 @ a>0,b<0,,c<0
® a<0,b<0,c<0
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14. the % AMATA GulA] Gt e s

D (=2)4 = (=2)2 x (=3) @) (-82) x (~1) + 42 x (+3)
® (=3) = (+1) x 22 @ (-6)% = (=32) x (+3)

12 (-2)2x(-3)=16+4x(-3) =4x(-3) = -12
(-1)3 + 4% x (+3) = (-64) X (-1) + 16 x 3 = 12
F(+1)x22=(-3)+1x4=-12
22 (-32)x (+3) =36+ (-9) x3=-12

)+ (-1 = (=3) x (-4) + (-1) = -12
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@ (-4) X (=5) + (=56) + (+7) =12
@ (-10)x 22 +4—(-6) = -4

® 7-(-3)x4-(-10) =29
@12+ (-4) = (-2) x3 = -12

® 32x4+6-(-8) =14

@ (—4) X (=5) + (=56) + (+7)
= {(-4) x (-5)} + {(-56) + (+7)}
= (+20) + (-8)
=12
@ (-10) x 22 + 4 - (-6)
={(-10) x 22} + 4 — (-6)
= (—40) + 4 - (-6)
= {(-40) + 4} - (-6)
= (-10) + 6
=—4

® 7-(-3)x4-(-10)
=7-{(-3) x4} - (-10)
=7 - (-12) - (-10)
=74+12+10
=29

@12+ (-4) = (-2)x 3
=12+ {(-4)+ (-2)} x3
=12+ (+2) x3
=12+6
=18

® 32x4+6-(-8)
= (3%x4)+6-(-8)
=36+ 6 (-8)
=6-+38
=14
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® a-b=b-a @ a+b=b=+a
@ax(bxe):(axb)Xc @ (a+b)zc=a=+(b=c)

® ax(b+c)=axb+c
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(a+b)+c+a+(b=c)

®ax(b+c)=axb+axc
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20. Al 525 a, b,
or

©a-b<o @ b-c>0 ® a+c<0
@ axc>0 @aXbXC<O

B

axb<0°lAahEte 25

a<0°B&b>0

bxc<0°lAd b ok =T BT

b>0°E& ¢<0

“a<0,b>0,c<0

Da-b= (%) - (FF) = (&) + (&F) = (&4) <0
@b-c=(FF) - (&F) = (F9) + (FF) = (F5) >0
Da+c=(EF)+(&F) = (F5) <0
Daxc=(&F) X (&F) = (¥9) > 0
®axbxc=(24)x (FF) x (&%) = (F5) >0




